|4
9%, Bxt1, x° +2

A= 3N =2 A= X +2 = (3xH)

=X+ | = X*-3x |
X4 1= xZ=3x + |
O=x"-4x
0 = x(x-y)
YSEN
b) x=o K=o x=%
Sio
a= 2y Se = g—_[zam-\\o@
d= % +| :%[2<2X3+(10-D<x+h]
:g<\_\>< {—ﬂ(wﬂl
<5( 3% +7)
Se= (5% + 45
_ X =
X=0 N
/ Sio = (;5(4)+ 45
S =15 = 305
@ Sa = 162 Sir = 28%

Sn= L[ 2ettadd ]

285 = 2] Jot 11d.
\@azﬂi[’ga+ &Q 2[ ! ]

[F2+4+S5+74+8 +jp+ 11+ . + 2999
ad 3 + ¢ +9 + 12 “L"

xe™ ]

v
Ssaaq Sa=2(a + 1) to=2911
o= Saqa = 911 (2,4 2947) Jm:alr(n-lﬂ

o= 24 D(3)
B = |l 498 200 2077 = (1)
Sn=12 N Q 9
2la rin 2994 = (n-0()

aqﬁq :m ] % 3
=4 49500 Subtract MR = ]
999 =n




6.5 - Geometric Series

4,8, 16, 32, ... geometric sequence

4+8+16+32+... geometric series: The sum of the terms of a geometric sequence.

(
n-1
Derivation of the Geometric Series Formula . (@ r >
n-14 |

XIS T S
Sm—r§n~ o — o " —@E\(f “ﬂ
Sm —F) aV-r")

(=) <\—r\

Sr\ — a( \~r“\
(\—r}

Geometric Series Formulas

Any term, t,, can be found using:

Any sum, S,,, can be found using:

n
OR a(i—r) ,Where rz1
-r

and: a = first term
r = common ratio
n = # of terms




Ex. 1 Determine the indicated sum of each series.

a) 4-8+16-..., So

a=y Sn= O\(rﬂ_l> _\___OL(\(I_ilrh>
=7 — q

Sa=7 Sq:%[(f?ﬂq“‘] :U((\*(\?J>

o (2
Sa =68Y

b)64+32+16+...,S12

o=G4Y Sr\‘—a(rh-Q

r—_ﬁ r— |




Ex. 2 Determine the sum of the series.

2+6+18+...+4374
4 of Jerms Sa=alr"-1)

@;Z t (r\fl c ’
r‘;g n=~o B B
ftr=u374% 1314 = %@—| S R &[(8)841
2 g 3
2187 = 3" J -l
37 =23 Je= 6560
n =X

Ex.3 Whatifr=1? Suppose a=5andr =1, find S, for the series.

D4+S 4684 ... 4+ &
Sio =98 x\0

i%:SO(



Homeweork
p- 407 HEC3, 2abdf,
3bf, 5bd, 6-12, 16

A
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